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2. Solve for x.
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Sleps:
l. fh" equotion in slope-intercept form:y = mx + b

2. Stote ihe slope (m) ond the y-intercept (b)'

3. Use the y-intercept to plot the first point on the
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Slope type

Find the stope (m) 5

Find the y-intercept b) I
/

Write the lineor equotion ti -. 7 "'' -f" !
:t";! ; l+i':

i Oie€CriONS: Use the linear equation in the form ! = mx * b to graph each line.
t----------

Then state the type of slope.
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Find the slope (m) I

Find the y-intercept (b) . .?

Write the linear equotion 11 .t rtr ,.r'
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